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Class-VI

Sub : Mathematics

Assessment - 1

Sri Ramakrishna Ashrama Institute (High School)

F.M.-40                                                                                                        Time - 1 hr 10 min

1. ¢!àþ„þ vþz_îû!Ýþ !˜îÅy‰þ˜ „þöìîûy õ 1x4=4

i) þòò•Ê%î„þóó îœöì“þ î%!Gþ ~!Ýþîû ›y˜ éôôôé
a) þ!î!¦þ§¬ £öì“þ þ™yöìîû—      b) þ~„þ!Ýþ !˜!”ÅTþ ›y˜ £öìî—     c) ”%!Ýþ ›y˜ £öìî—    d) þ!“þ˜!Ýþ ›y˜Ð

ii) ¢‚…Äy†%!œîû †%’šþœ = þ“þyöì”îû †.¢y.†% x þœ.¢y.†% þ~£z ¢)e!Ýþ ²Ìöìëy‹Ä £öìî éôôôé
a) 1þ!Ýþ ¢‚…Äyîû ‹˜Ä—    b) 3þ!Ýþ ¢‚…Äyîû ‹˜Ä—   c) 5þ!Ýþ ¢‚…Äyîû ‹˜Ä—   d) 2þ!Ýþ ¢‚…Äyîû ‹˜ÄÐ

iii) ~„þ!Ýþ î£zöìëûîû Ÿ#¡ìÅ!î %̈îû ¢‚…Äy éôôôé  a) 5þ!Ýþ—    b) 10þ!Ýþ—    c) 8þ!Ýþ—    d) 12þ!ÝþÐ
iv) ~„þ!Ýþ ¦þ@Ày‚Ÿöì„þ œ!‡Ûþ xy„þyöìîû þ™!îû’“þ „þîûöìœ ¦þ@ÀyŸ!Ýþîû ›y˜ éôôôé  a) þxþ™!îûî!“Åþ“þ íyöì„þ–    b) 1 î,!å• þ™yëû—

c) þ™!îûî!“Åþ“þ þ£ëû—  d) þ£Éy¢ þ™yëûÐ

2. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1x3=3

i) þ™îûþ™îû ”%!Ýþ ßþºy¦þy!î„þ ¢‚…Äyîû †.¢y.†% = Ð
ii) 1 þ‡rÝþyîû     þx‚Ÿ = þ  !›!˜ÝþÐ
iii) þ”%!Ýþ î„Êþöìîû…y  !î %̈öì“þ öŠé” „þöìîûÐ

3. ¢“þÄ xíîy !›íÄy !˜’Åëû „þöìîûy õ 1x3=3

i) ”%!Ýþ ¢‚…Äyîû œ.¢y.†% = ¢‚…Äy†%!œîû †.¢y.†% ÷é ¢‚…Äy”%!Ýþîû †%’šþœÐ
ii) ²Ì„,þ“þ ¦þ@Ày‚öìŸîû ›y˜ ¢îÅ”y 1 xöìþ™Çþy „þ› £ëûÐ
iii) 9.017 ¢‚…Äy!Ýþöì“þ 7þ~îû Þíy˜#ëû ›y˜       Ð

4. !˜Á¬!œ!…“þ ²ÌÙÀ†%!œîû vþz_îû ”yç õ 2x6=12

i) 1 vþ‹˜ „þœöì›îû ”y› 48 Ýþy„þy £öìœ– 256 Ýþy„þyëû „þ“þ†%!œ „þœ› ö„þ˜y ëyöìîÚ
ii) x!˜îû%öìå•îû vþzF‰þ“þy x!˜öì›öì¡ìîû vþzF‰þ“þyîû ö‰þöìëû 2 ö¢!› öî!ŸÐ  x!˜öì›öì¡ìîû vþzF‰þ“þyîû xöì•Å„þ x ö¢!› £öìœ– x!˜îû%öìå•îû vþzF‰þ“þy

„þ“þÚ
iii) ˜#öì‰þîû ¢‚…Äy†%!œöì„þ „þyŠéy„þy!Šé 100 ~îû †%!’“þöì„þ þ™)’Å¢‚…Äyëû !˜öìëû !†öìëû öëy† „þöìîûy õ  4654 + 3942

iv) ”%!Ýþ ¢‚…Äyîû œ.¢y.†% ç †.¢y.†% ëíy„Êþöì› 2175 ~î‚ 145— ë!” ~„þ!Ýþ ¢‚…Äy 725 £ëû– “þöìî xþ™îû ¢‚…Äy!Ýþ „þ“þÚ
v) þ™yöìŸîû Šé!îöì“þ „þ“þ†%!œ ¢îûœöìîû…y‚Ÿ ~î‚

îû!ÙÂ xyöìŠé !˜’Åëû „þöìîûyÐ

vi)    þ ~îû ¢›“%þœÄ ¦þ@Ày‚Ÿ öœöì…y ëyîû œî ~î‚ £öìîûîû ¢›!Tþ 56Ð

5. !˜Á¬!œ!…“þ ²ÌÙÀ†%!œîû vþz_îû ”yç õ Söëéôéö„þyöì̃ y !“þ˜!ÝþéV 3x3=9

i) 360 !î‡y ‹!› 20 !”öì̃  ‰þy¡ì „þîûöì“þ 4!Ýþ ÝþÆyQîû œyöì†Ð 1800 !î‡y ‹!› 10 !”öì̃  ‰þy¡ì „þîûöì“þ £öìœ „þ!Ýþ ÝþÆyQîû œy†öìîÚ
ii) î˜Äy“Åþöì”îû ‹˜Ä !î!¦þ§¬ ¢‚†àþ˜ öíöì„þ 587.45 !„þ@ùÌy ‰þyœ– 290.35 !„þ@ùÌy vþyœ ~î‚ 340.259 !„þ@ùÌy xyÝþy þ™yçëûy ö†œÐ

ö›yÝþ „þ“þ …y”Ä¢y›@ùÌ# þ™yçëûy ö†œÚ
iii) ~„þ!Ýþ î¤yöìŸîû      x‚Ÿ „þy”yëû–      x‚Ÿ ‹öìœîû ›öì•Ä ~î‚ ‹öìœîû vþzþ™öìîû xî!ŸTþ 8 !›Ýþyîû xyöìŠéÐ î¤yŸ!Ýþîû „þ“þ ÷”‡ÅÄ „þy”y

ç ‹öìœîû !¦þ“þîû xyöìŠéÚ
iv) ö„þy˜ î,£_› ¢‚…Äy !”öìëû 2300 þ~î‚ 3500 ö„þ ¦þy† „þîûöìœ ëíy„Êþöì› 32 ç 56 ¦þy†öìŸ¡ì íy„þöìîÚ
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6. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ
i) 10(5+7) = 10 x 5 + 10 x 7 -~öì„þ î#‹†!’öì“þ „þ# !˜ëû› îöìœÚ 1

ii) m ¢‚…Ä„þ !e¦%þöì‹îû ö›yÝþ îy£%¢‚…Äy „þ“þÚ 2

iii) !‰þ£« ç ²Ì“þ#„þ !”öìëû î#‹†y!’!“þ„þ ¢‚…Äy›yœy ÷“þ!îû „þöìîûy õé
x ~îû 5 þ¦þyöì†îû ~„þ¦þy† öíöì„þ 2 „þ›– y ~îû ¢›y˜Ð 2

7. !˜Á¬!œ!…“þ ²ÌÙÀ†%!œîû vþz_îû ”yç õ
i) ~„þ!Ýþ ‡˜öì„þîû ¦)þ!› „þ# xy„,þ!“þ !î!ŸTþÚ 1

ii) ~„þ!Ýþ !î %̈ !”öìëû „þ“þ†%!œ îû!ÙÂ xA„þ˜ „þîûy ëyëûÚ 1

iii) þ¢îûœöìîû…y ~î‚ ¢îûœöìîû…y‚öìŸîû ›öì•Ä ”%!Ýþ þ™yíÅ„þÄ öœöì…yÐ 2


